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burst19990903 at 19h14m56s UTC, RA=  345.22 deg., Dec=  73.66 deg.

time

ev
en

ts
.s

-1 (a)

time

ev
en

ts
.s

-1 (b)

time

hi
ts

.e
ve

nt
-1 (c)

t1-12h t1-6h t1 t1+6h t1+12h
1

1.2

1.4

1.6

1.8

2

1

1.2

1.4

1.6

1.8

2

~ =AE8!"��3 Ñ ¨�.�W�6#3r3 �y3D@D%�7�:"%'6#3/<n!"���c3D�{7�:#$�@�=><v%'=AX>X^�B%�78�}3Ds�3�<v%'$�7�<m%'6#3/��!#78<m3Ds83D<v%��'�B%�32G#!"��=A<"E
b �K6"78!#������7�!#<#G��f�,+.-5(P�v05+S�\? ��!#7�<�3Vs83�<v%m�'�B%�3�Uf(��®0,�H3DXA3�@V%'3DGt��!#7�<z3Vs83D<�%m�'�B%�3�Uf(�@\0
e s83D�'��E�3)<�!#���h3��97�:�$�@D=A<v%'=>XAXA�B%'78�/6#=>%�$�;c3D�93Ds83D<v%\U/�l�B@16K�#=><
��3�;"��3�$43�<v%'$[� b ��=A<�!"%�3T;c3D��=A7nG�U

Ñ �



burst19990903 at 19h14m56s UTC, RA=  345.22 deg., Dec=  73.66 deg.
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burst19990903 at 19h14m56s UTC, RA=  345.22 deg., Dec=  73.66 deg.
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burst19990903 at 19h14m56s UTC, RA=  345.22 deg., Dec=  73.66 deg.

Events-source angle t-t0(s)
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burst19990903 at 19h14m56s UTC, RA=  345.22 deg., Dec=  73.66 deg.

Events-source relative position ∆ha.cos(δsource) (degree)
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